Variable SRDL CRDL

tt(2¢) NPR1 NPR2 VvV Z TT
Q(1)Q(12) —1 +1 +1
€y £ Pl pee o pppe pupe P pe az
pt(f1) (GeV) 5(7)-25 >25 >25 >25 >125
pt(£l2) (GeV) 5(7)-15 >15 >15 >10
1n|(¢) <15 <21
dyy, dz (£) (cm) <0.01 <0.02, <0.5
pt (ISR jet) (GeV) >150
pr (jet3) (GeV) <60
Number of b jets 0 1 0 (loose id.)
Number of jets >1 lor2
[Ag(¢1,ISR jet)| (rad) — >1
Emiss (GeV) >200  >125 >125 >125 —
Emiss / H >2/3 — — — —
Lt (GeV) — >225 >225 >225 —
Lt/ Ht — >2/3 >2/3 >2/3
pr(pp) (GeV) — >200
pr(up)/Hr — >2/3
m(£0) (GeV) >5 >50 >10
m(1T) (GeV) >160 — <160




